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Os&Hl Xtz 3,000,000& =+ 14 3,000
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5,000,000& » 14! 5,000
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3,000,000& * 14 3,000
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1,000,000& * 44 4,000
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Odl==& 2SAtdl =&
200,000& * 53 «* 43] 4,000
307 21201 120,000 100,000 20,000
05 QIZtRAEF 120,000 100,000 20,000
Oofl==Z WAIE &4 120,000,0008 * 14! 120,000
401 Al&HIZ =20 210,000 119,460 90,540
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Ogdui==& 22& Al&ZH|
200,000,000& = 1A 200,000
OL S H4+SF ALY HE &
10,000,000& * 14! 10,000
405 KHobE=H| 10,000 10,500 A500
01 ML =S SHEHI 10,000 10,500 A500
OFa&Hl 7Y 10,000,000& * 14 10,000
M2 2 (S2I12) 62,500 73,910 211,410
301 LEIEAE 62,500 73,910 211,410
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5,000& = 40F = 341 » 30 18,000
Odfl==Z SAIEM =41 4,000,0008 * 14! 4,000
o197t 24
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5,000& = 30F = 141 » 50 7,500
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5,000& = 70 = 141 » 45 15,750
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101 eIl 320,601 92,800 227,801
10 JIZtNI22sSE =+ 320,601 92,800 227,801
O+MQHPEA(SUE)
178,500,000& * 14l 178,500
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O3XEs 1,400,000& * 14! 1,400
02 S22l 30,000 0 30,000
OF=2ds 12,600,000 » 14 12,600
O =3si 3,500,000& * 14 3,500
O=sHY 4,000,000& * 14 4,000
OAtEH 3,200,000& * 14 3,200
Oo¢=d 3,500,000& * 14 3,500
OES=2= 800,000& » 14| 800
Osds 700,000& * 14| 700
od4es 1,000,000& * 14 1,000
O3XEs 700,000& * 14l 700
401 A&HIL =] 255,000 61,540 193,460
01 Al&dI 255,000 61,540 193,460

_14_



[0
i’
OF
oJ

rr 20

= 0 30
I <) OH
o7 [0 KO
0K 77) O
0 50 <F

B

I & o
21 RO O

o o (e} (e} (e} (e} (e} (e} (e} (@] o (@] (e} (@) (@)
o o Lo (] (e} (e} (e} Lo Lo (@) (e} [Ye) L
(e} (e} (e)) ($p) ($p) ($p) ($5) «© © Lo L0 [ee] (e}
20 == N ol < < m, m,
Klo
E|
s
HI]I]|88 & &8s Sk
2 Bl H L ) < L PSS IS - | =
LH3r
uikEd
RS
(e} o o o (e} (e} (e} (e} o O o O O o o O O O O O O O o O (@) o O
(] () o o N~ (e} (] (e} o O o O N~ N~ Al Al © © O O N O o O o) L L0
Sio|e SR (v|n® 6 || o |N¥ |90 S S b o - b O oo |n Y
% — — — [Ye] (5] o AN
3r
<
=
T Ed T T W o I o < o] T
:.:. — — — — - N e — @) —
— ($p]
MO X x x x x x x X x * x x
mo|% z L g TaZTELY g z
. |48 -3 S 1] S & 8 8 8 8 8 1]
= - R0 < - - - - - - - S -
oD N O o o o o x I0 O 9O O - o
< =< < 2 N (S o L ©
I E=gte) Kl o ISP < S o — o
= |wd 1T N
S B K .
~ |ao s |~ &
= |ow W |@ =] 5 S
o | = ~ T R I R ST 0 z E=]
- = -~ RIOKE RLOKF t = =)
oF (¥ U <+ <
ol X RE o OF a0 O aD o E=Rll: n c <+
O T |t Ko = o |3 8 3D 30 T |D ol W @r 20 = Mo ok
= Juo ur | o ofr 0 =) |® O B0 OH B |m DS M+t T ® 8 o T &
z |5 il ) KE|OH f) O X O |f) Of @0 T 00 5 R 00 A0 S I
L lom | B & S|l N X - ok 4 mMmUHIR ZH M |
umO R |r O T|sl|s|s|~ O I O Tl OO O OO0 M O|s | O
I o | — RO | 80| OH | n | — < = I A N o~ | —
m o o | ok | mr ISR (@) RO TR SR S S|e
0 OH | ®r | ol M|~
rr RO | o ~
| 70

_15_



- Al L=
2B GL(3) - RN - B ofl &t e HIDE2
14,615,687 7,527,707 7,087,980
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Al 8,648,108
ANZEE & SH(23d2Z/28H0s) 7,957,787 5,607,670 2,350,117
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= 700,000
= 248,350
= 849,000
Al 6,120,437
Sz ENYE &8 1,647,800 716,701 931,099
= 1,350
= 420,000
Al 1,226,450
230z UFE S 20,500 25,000 24,500
2et=gl| 500 1,000 A500
AR 22l 500 1,000 A500
OSsnRE SRR
100,000 * 53 500
212rold 20,000 0 20,000
A YEx 20,000 0 20,000
OsLH? 23l J12 HH=d u=
10,000,000 * 23l 20,000
489 2 dAAE 587,000 76,000 511,000
307 2iz2told 587,000 76,000 511,000
02 2AHALE L 30,000 0 30,000
OZ8eu Wi ¢ 30,000,000 * 14| 30,000
QIZFAALE & 557,000 76,000 481,000
Odlz2 23HAl 50,000,000 * 14| 50,000
Odl&s =3tHl 20,000,000 * 14| 20,000
O=gasS =% 60,000,0003 = 14 60,000
Oalois A S8 AL
36,000,000 = 14 36,000
OgL=At Crelldl & sr=AI0ILE
80,000,000 * 14| 80,000
OfI&Eel & 1,000,000& = 14 1,000
OMANLL DRI HLHI S Selsdel S
Jgsa 300,000,000& = 14 300,000
OZ S DA NEIRR
10,000,000 = 14 10,000
4E 23 88 X 2,000 0 2,000
ety 2,000 0 2,000
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307 21201 ™ 100,000 90,000 10,000
02 2AHALE L 100,000 90,000 10,000
O&auW=d 50,000,000 * 14| 50,000
OE=8du 50,000,000 * 14| 50,000
dESu 2NsEE 2,700 2,700 0
= 1,350
Al 1,350
307 212told 2,700 2,700 0
= 1,350
Al 1,350
04 2I2FSHALS 2,700 0 2,700
OdSeu 2,700,000& = 14 2,700
= 1,350
Al 1,350
AAYE D=0 90,000 90,000 0
= 20,000
| 70,000
307 212told 90,000 90,000 0
= 20,000
70,000
04 2I2FSHALE 90,000 90,000 0
OaAEEOl= 90,000,000 * 14 90,000
= 20,000
70,000
S S g 5,600 5,632 A32
202 O4dl 4,100 4,132 A32
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A= AF23=A= A Z30=2
M 2oz AR & S4(2322E/280=)
el AS2EML 2 (ol w2
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
03 AIMFAARFLH| 1,500 1,500 0
O2sttlsAI =2l 1,500,000& * 14! 1,500
2E HIdIA K& 40,000 20,000 20,000
307 gI2told 40,000 20,000 20,000
04 QIZFHAIE X 40,000 20,000 20,000
OYLEH AKX 20,000,000& = 14! 20,000
O M HAXA 10,000,000& 14 10,000
OMNEH ALK 10,000,000& * 14 10,000
dsggae 400,000 0 400,000
= 200,000
Al 200,000
401 Al&HIRH S0 400,000 0 400,000
< 200,000
Al 200,000
01 Al&dI 400,000 0 400,000
OZsdgay 400,000,000& * 14 400,000
= 200,000
Al 200,000
Fstd=as XA 1,389,787 1,277,838 111,949
=2 91,000
L= 67,000
Al 1,231,787
FoAE Z208 2F 22 1,000 0 1,000
201 LEr23H| 1,000 0 1,000
01 AtSZ2lt| 1,000 0 1,000
O2E&8 g% MH 100,000& * 107K 1,000
Fsg 2t 7,500 9,000 21,500
201 Zet23d] 6,500 9,000 22,500
01 AtSZeltl 6,500 9,000 22,500
OAHEt=8S HHIZYX 6,000,0008 * 14! 6,000
OSSR Es S| 500,000& » 14! 500
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01 2B 1,000 0 1,000
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EEE RS 508,000 191,000 317,000
307 2I2+0I M 508,000 191,000 317,000
04 QIZHHAIE £ 508,000 191,000 317,000
ONi39sl 2En==H 15,000,000& * 14 15,000
OMUIoHS2IAXI A 350,000,000& * 14 350,000
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OdelaltolE BHESXS
20,000,000 * 14 20,000
23 28X 10,000,000 * 14 10,000
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lsHAS2ARAE 1,890 3,360 21,470
201 &er=gll 1,890 3,360 21,470
01 AtR2teIH| 1,890 3,360 A1,470
Oll=3Aas2
0 1,890
=H . BM=gs 2& 12,800 22,500 29,700
301 LeEt2 N3 12,800 22,500 29,700
10 YAIMBIE S = 12,800 22,500 A9,700
OllsH=d 24 350,0008 » 20 7,000
OZ&A=H &2 180,000& * 10& 1,800
OoZagzxgdA
100,000& * 30& 3,000
OZE=F=20t 100,000 * 10 1,000
ASISHHIXIZAIY 23 179,000 186,000 AT,000
307 212+01™ 179,000 186,000 AT,000
03 ARISHHE XS 179,000 186,000 A7,000
OARIHAE XS 179,000,000 * 14| 179,000
BICH Oil= Al 120,000 133,000 213,000
307 212told 120,000 133,000 213,000
04 QUIZHHALE X 120,000 133,000 213,000
O3Exs=0=M 120,000,000 * 14| 120,000
280z 2A2I2E 82,535 68,000 14,535
201 ety 7,535 8,000 N4B5
01 AR 2t2IHl 5,535 6,000 A4B5
OLSll=2AFXY =
00 * 820m" = 50/1,000 5,635
02 S3=23H| 2,000 2,000 0
OFSPIRUIFSE=F= et 1,000,000& = 14 1,000
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222 =EX= AN 230l=0
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Cel=SRE Xt 200,000& * 102 2,000
-HiotexEs E 28t 200,000& * 63 1,200
SU3| FHOEA =4
7,000& « 63F = 103 4,410
S WSANEHM &It 3,365
HEsSAE At
1,000,000& *12l * 1CH 1,000
|=EXE A 1,000,000& * 13 1,000
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olfetel=E A E =M 1,630
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1,000,000& * 13 1,000
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AR 1,438,200& * 9 * 123 155,326
Qe 1,289,900& * 47H * 128 727,504
oJ|2eE 983,870,000 * 50% * 2/12 81,990
oclls=¢ 40,560
Br=it, oY, ®HRF
100,000& * 4 » 128 4,800
FoHA 70,0008 * 9 » 123 7,560
e 50,000& = 47 = 128 28,200
o X Mgt 46,200
Br=At, oY, ®HRd
150,000& * 4 = 128 7,200
oA 100,000& * 99 » 123 10,800
- LBHERA 50,000& = 47 = 128 28,200
o=elsY 63,120
CBEERL, & E, HRHE
150,000& * 4H « 123 7,200
oA 100,000& * 99 » 123 10,800
e 80,000& = 47 = 128 45,120
o HAASG 24,000
PNEDN; 1,000,000& * 4H 4,000
AR 500,000& » 20 10,000
e 200,000& * 10H » 53 10,000
oH|A4YHA =2 300,0008 * 2% « 12& 7,200
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A= AF23=A= A Z30=2
M 20z AR & S4(2322E/280=)
&2l Algllss 22 (&2 & &)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
ogARE & 33,000
SARAS 3,000,000& * 53 15,000
[=RsPN = 2,000,000& » 4H 8,000
= RaDN{6= 1,000,000& * 109 10,000
SEREEWSEEISE
983,870,000& * 4.5% 44,275
cALBHAL R RS
983,870,000 * 2.24% 22,039
cNEBHAMARLLS
983,870,000& * 1.75% 17,218
oMATHHNEE = 983,870,000& * 4.3% 42,307
o Aol Xl =l 100,000& * 10Z = 43 4,000
oAM=t 223
57,800,000& = 14! 57,800
SNEL E=aul:] 3,000,000& * 14 3,000
cH=HEAHARYSH 3,630,000& * 14 3,630
cll=H=2dRd =¥ 1,000,000& * 14 1,000
otHR EAZ 105,000,000& * 14l 105,000
401 ASHIL 2] 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OAl&HI 10,000
cANglz=cASAEs 10,000,0008 * 14 10,000
405 XHatFE S 7,000 14,300 A7,300
01 ML SESH = 7,000 14,300 A7,300
Ot ESFH S| 7,000
o2 7,000
HiolAZetelH! 7,000,000& * 1CH 7,000
Z2t=20F ot=RI0 &5 3,111,212 1,893,801 1,217,411
s 700,000
= 150,000
< 350,000
Al 1,911,212
SSRU AE 222 8,400 11,400 A3,000
201 e 8,400 11,400 A3,000
02 3Z2=24H| 8,400 11,400 23,000
O3 HIIes 700,000& * 12& 8,400
CHatgsid HIotolok1del =4 586,712 300,000 286,712
101 el 14,112 0 14,112
10 JIZtMI22AEE+ 14,112 0 14,112
ONdEZIHE 22| JI2HHe = 14,112
=Jll=s 40,6003 * 1H * 230 9,338
oxgsH 40,6003 * 1 = 46 1,868
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=
Z23H0 d =
2320k oSt=RI0 (S d 3
- - &4
L RE-CRE=r HRAY - B St HImE2
oIt 40,6003 18 « 11 447
oA 22| 6,680 * 8AIZ2t » 46 2,459
401 Al EHIL LY 572,600 300,000 272,600
01 Al&Hl 562,600 300,000 262,600
OAl&H] 562,600
odd =X 100,000,000 * 14| 100,000
SLEIESY
300,000& * 1,5428 462,600
03 AlZ=CHHI 10,000 0 10,000
O=FXE0e NE=+2
10,000,000 = 14 10,000
= oluEd =X 300,000 280,000 20,000
401 Al EHIL S 300,000 280,000 20,000
01 Al&Hl 300,000 280,000 20,000
OAl&H] 300,000
oRrNSH 300,000,000& * 14 300,000
ISSA0ITIoEE 2 1,400,000 0 1,400,000
[ 700,000
= 200,000
Al 500,000
401 Al EHIZ LY 1,400,000 0 1,400,000
fas 700,000
S 200,000
Al 500,000
01 AlZHI 1,380,000 0 1,380,000
OgduItiodEZ 2
1,380,000,000& = 14 1,380,000
[ 700,000
= 200,000
Al 480,000
02 Zcldl 10,000 0 10,000
OZ el 10,000,000 * 14 10,000
03 AlZ=CHYI 10,000 0 10,000
OAlZ=0Hl 10,000,000 = 14 10,000
SH20F SIEAN &5 2334I 6,100 6,130 A30
202 O4dl 6,100 6,130 A30
01 =UAbI 6,100 6,130 A30
O=23=0t StEANEE 2S 3
6,100,000 * 14 6,100
S UNUZE 4 30,000 0 30,000
402 2I2tXH=0lH 30,000 0 30,000
01 222X 30,000 0 30,000
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2= K= AN 2e0=
sl AEd ¥ SH(2aL2/25t0=)
SH20F StERIN ==

= - — Al L=
RN BB BRI(E) - MRAY - BES e HIDE2
| Otz 30,000,000 * 14| 30,000
SRUSHEES 100,000 100,000
402 2I2tXH=01H 100,000 100,000
01 eIt A=22x 100,000 100,000
OssusASS 100,000,000 * 14! 100,000
2EELIIESELH 380,000 380,000
= 150,000
Al 230,000
401 AlZHIZ SO 380,000 380,000
= 150,000
Al 230,000
01 Al&H] 380,000 380,000
OZ8gllg33 L4 380,000,0008 * 14 380,000
= 150,000
Al 230,000
LUE MHWOIEME 2l2Hel 300,000 300,000
= 150,000
| 150,000
402 212t X201 300,000 300,000
= 150,000
150,000
01 QA= X 300,000 300,000
OZ SN BOIEHE cl22d
300,000,000& * 14] 300,000
= 150,000
| 150,000
2= |4 133,500 68,500
= 40,000
= 6,000
S 12,000
Al 75,500
Zatlzls d2UALLH(SHAEXR) 18,000 18,000
307 21201 ™ 18,000 18,000
02 QIAHALEE 18,000 18,000
O2szns 2L (FIIETRH)
500,000& * 3% « 12& 18,000
t==ststn 29 15,000 0
307 212told 15,000 0
04 QIZHHALE X 15,000 0
OM172l tes=22tstn2d
15,000,000 = 14 15,000
B SN2 USAL(IIIEEXH) 8,500 8,500
307 212told 8,500 8,500
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for for giy

A0 HO &

224" O (B) - HPEAY - BES 0l &t

=1p

i

2m
=2
kel
0y
0y

8,500 0 8,500

(
,500,000& * 14| 8,500

FZastn 23 12,000 12,000 0
6,000
6,000

= Al

307 glztold 12,000 12,000 0
6,000
6,000

= Al

g2 12,000 0 12,000
O=atstu g 12,000,000 = 14l 12,000
6,000
6,000

= Al

NE=2st slsAddH 29 80,000 0 80,000
40,000
12,000
28,000

> n H

307 glztold 80,000 0 80,000
40,000
12,000
28,000

02 QltA&E X 80,000 0 80,000

foq)
o
o

00,000& = 14! 80,000
40,000
12,000
28,000

> n H

tH 2E2E (222 /235H) 6,316,660 1,578,697 4,737,963
2,724,000
1,406,229
2,186,431

B B - B2 JH| 5,731,308 1,334,592 4,396,716
2,724,000
1,087,929
1,719,379

A EX & XIES 1Y 500,000 500,000 0
350,000
75,000
75,000

> n H

401 AIEHIZLSOHYI 500,000 500,000 0
350,000

75,000
75,000

> n H

01 Al£H] 500,000 492,500 7,500
OEXM 447,000,000& * 14 447,000

312,900
67,050

in W
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22 =2s== SN 23t0li=n
SEI RHBE(25UY/2HTH)
3 25 - 25 - Fbl (et A
2 2AH - B S9(3) - IRAY - BES ofl &t e HIDE2
Al 67,050
OXE=EA 50,000,000 * 14 50,000
2 35,000
= 7,500
Al 7,500
OLZIYIIY SII0I/442
3,000,000& = 14 3,000
= 2,100
= 450
Al 450
ZYS R EXHY 500,000 500,000
= 350,000
= 75,000
Al 75,000
401 AlEHIZ=20HY] 500,000 500,000
= 350,000
= 75,000
Al 75,000
01 AlZHI 500,000 500,000
O=g=8X EX0HLY 499,500,000& * 14] 499,500
= 349,650
= 74,925
Al 74,925
OS82 500,000 * 14 500
= 350
= 75
Al 75
OEH SBTAI 22YAY 2,000,000 2,000,000
2 600,000
= 700,000
Al 700,000
401 Al EHIZ LY 2,000,000 2,000,000
= 600,000
= 700,000
Al 700,000
01 Al&HI 1,700,000 1,700,000
SEdA2 22E€d 1,700,000,0008 * 14 1,700,000
= 390,000
& 655,000
Al 655,000
02 Zcldl 300,000 300,000
ORsSdAZ cI2gE 22l
300,000,000& = 14 300,000
= 210,000
= 45,000
Al 45,000
UHBX| RLOHS RIS 1,142,858 1,142,858
2 800,000
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22 =2s== SN 23t0li=n
2o FEE( /23HH)
3 25 - 2 CEEREE]
S LRE-LE W ENERE-EE ofl &t e HIDE2
S 171,429
Al 171,429
401 AIEHIZE 1,142,858 0 1,142,858
= 800,000
& 171,429
Al 171,429
01 AlZHI 1,142,858 0 1,142,858
Os=2.0l2s =¢ 1,142,858,000& = 14 1,142,858
= 800,000
= 171,429
Al 171,429
ng FHIHISA 200,000 0 200,000
= 140,000
= 30,000
Al 30,000
401 AIEHIZE 200,000 0 200,000
= 140,000
& 30,000
Al 30,000
1 Al&HI 199,000 0 199,000
odug= HE S$EXLH
199,000,000 * 14 199,000
= 139,300
S 29,850
Al 29,850
03 AlZ=CHYI 1,000 0 1,000
O WEFHIHIAIE U
1,000,000& = 14 1,000
=2 700
= 150
Al 150
=AHARKL 013 & &2 40,000 70,000 A30,000
401 AlEHIZ 20 40,000 70,000 230,000
1 Al&H] 40,000 70,000 30,000
OZ&AHL AFEAIW D12 24
40,000,000 * 14] 40,000
=OARKL AFEX & | 20,000 0 20,000
201 &er=gll 5,000 0 5,000
01 AtR2teiH| 5,000 0 5,000
OAtZ 22l 5,000
ost=MiILL E2= M
5,000,000 * 14 5,000
301 get2a= 15,000 0 15,000
10 YAIMBIR S = 15,000 0 15,000
OdArAHIZ &S 15,000
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22 =X=
ol HERE(25Y

2. 2A - FH . ER(S) - NRAY - BAS

k=4 pal

pym
JgH

401 Al&H|IZ20HY|

Z W

30,000
15,000
7,500
7,500

01 Al&H
OMAIEHY ®IIZAF

30,000,000& = 14!

=

30,000
30,000

15,000
7,500
7,500

30,000

Z i M

160,000
80,000
40,000
40,000

160,000

Zn

160,000
80,000
40,000
40,000

160,000

160,000,000& * 14|

Z

160,000
160,000

80,000
40,000
40,000

160,000

Z

140,000
70,000
35,000
35,000

140,000

402 2t =01A

= A

140,000
70,000
35,000
35,000

140,000

01 2I2tXt

140,000,000 = 14l

Z i M

140,000

140,000
70,000
35,000
35,000

140,000

= A

160,000
80,000
40,000
40,000

160,000

402 212t=01d

=

160,000
80,000
40,000
40,000

160,000

01 DIHXI=EX

160,000,0002 * 14}

160,000

160,000

80,000
40,000

160,000




-~

- H
o
4> Mo

HO MO
folr tol o
=2 2MH0
HI {0

ol o

ton
il
-
W
!
x
[0
ol
=
>
|

= = — N L=
CRA - EHB R (BH) - HRAY - B e HIRS2
| A 70,000
SRELZSHHZAIZ X 126,000 126,000
= 63,000
= 31,500
Al 31,500
101 @Il 126,000 126,000
= 63,000
L= 31,500
Al 31,500
10 JIZtMI22HSE+ 126,000 126,000
O=RSXE ZAIZBHX
126,000,000& * 14! 126,000
= 63,000
= 31,500
Al 31,500
S Not=s2tel 80,000 80,000
401 Al&BIZ R0 80,000 80,000
01 Al&HI 80,000 80,000
OffiCtel XY dES0ot=s 2t
80,000,000 = 14 80,000
SREL2ZSHH YMAIAFS 300,000 300,000
= 150,000
= 75,000
Al 75,000
401 AA&BIZ =08 300,000 300,000
= 150,000
L= 75,000
Al 75,000
01 Al&dI 297,000 297,000
O LS EEZAHYMAIAR S
297,000,000& * 14! 297,000
= 148,500
= 74,250
Al 74,250
03 AlZ=S0HbI 3,000 3,000
O2009= 22 L2 HYMAIAE RS RO
3,000,000& * 14! 3,000
= 1,500
= 750
Al 750
SERstE= 585,352 341,247
= 118,300
Al 467,052
HIXIE =23 28| 203,045 203,045
101 Q1| 3,045 3,045
10 JIZtHI22XsE = 3,045 3,045

_33_




A= AFEA=SN= SN 23t0li=n
U 25 AYDE(2HLVZ/23H)
el SE2se= (S d 3
- - &4
AERE ZRE-ERI=CICE DR EINRE:RoE Ofl &t 24 St HImE2
OHINE 2 M=HY o5y
40,6002 * 538 « 15 3,045
401 Al EHIL LY 200,000 0 200,000
01 Al&Hl 200,000 0 200,000
OHIXNIE e M7 X2+ 200,000,0008 * 14 200,000
A= s9=EH.U8 =t 30,000 30,000 0
307 2lz2told 30,000 30,000 0
04 QI2FSHALE & 30,000 30,000 0
OM=5l=2=M XA 30,000,000& = 14] 30,000
SEEIMN ds= N 120,600 74,400 46,200
= 60,300
Al 60,300
301 &eteds 120,600 74,400 46,200
= 60,300
Al 60,300
12 JIe2d=s 120,600 74,400 46,200
ORg==tMdds= N&  120,600,0008 * 14 120,600
= 60,300
Al 60,300
AEotEEu =0l X2 2 2l 29,650 5,261 24,389
201 et 9,650 5,261 4,389
02 33234l 9,650 5,261 4,389
O=&=23Hl 9,650
oIz 400,000& * 122 4,800
oot AE= 20,0003 = 128 240
ocSHFIMERE= 110,000& * 12 110
o R01EH| AIESE 200,000& * 123 2,400
oA =ZH| 900,000& * 12 900
oc2hkriz 200,000 * 12 200
SZNE=ES s EIN ] 1,000,000& = 14 1,000
307 21201 ™ 20,000 0 20,000
02 QitA&E X 20,000 0 20,000
Ottel, E2M%H 20,000,000 * 14| 20,000
dA=0t2 8=2€J| A& 5,000 0 5,000
307 212told 5,000 0 5,000
02 It a2 X 5,000 0 5,000
OHHIMA & KX 5,000,000& * 14 5,000
SHMQ=MHII A& & 2el 15,350 10,234 5,116
201 e 10,350 5,234 5,116
02 5=l 10,350 5,234 5,116




A= BN S 2 ED
HM: 2o FEEE(SSL2Z/25HH)
el BESs Y= (ol w2
A2 .24 Z - BR(S) - NRAY - B 04 4t o e HIDE2
O3s3=22H| 10,350
oMIl=g 400,000& » 12 4,800
oMot ZAIER 20,000& = 128 240
SN FaE= = 110,000& * 13l 110
oR0IZHl AEZ 200,000& » 122 2,400
o= H| 900,000& * 13 900
ocERTHE 200,000 * 23] 400
o A2 EHIR X 1,500,000& * 14| 1,500
401 AlEHIYL S OHY 5,000 5,000 0
01 Al£H] 5,000 5,000 0
Od 3|2t ANE2H 5,000,000& * 14 5,000
TAEI g 2|2 29,292 25,283 4,009
101 @l 11,722 11,335 387
10 JIZtMI22 RS2+ 11,722 11,335 387
OZASIIS2 222 UFRY 1,722
=llZs 33,8003 * 128 » 230 7,795
oxFE 33,8003 = 1& * 464 1,559
SRPN S =y 33,8903 * 1€ ~ 11 373
o A2+l 5,420% = 368Al2t 1,995
201 et 17,570 13,948 3,622
01 AR22IH] 3,400 1,100 2,300
OArR2t21H| 3,400
ol E2= A 200,000& * 53 1,000
cHARH 200,000& » 122 2,400
02 2324l 14,170 12,848 1,322
O3s3=22H| 14,170
oMIIZg 600,000& * 123 7,200
c MGt AIERZ 30,000& = 123 360
ocEIMHRES 110,000& * 13/ 110
o0l AEZ 200,000& » 122 2,400
o= H| 800,000& » 23| 1,600
ocERFHE 250,000& » 23| 500
= AEEHIK X 2,000,000& * 14 2,000
slz.sldaslgR 2oy 24,015 16,475 7,540
101 Q14| 3,045 0 3,045
10 JIZtM2Z2XsSE+ 3,045 0 3,045
oJlga =4 | 22y
40,6008 * 5% » 15 3,045
201 Yereg| 20,970 16,475 4,495
01 AtR2eltl 11,000 11,500 A500
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A= AF23=A= A st
A 2o FEEE(2Y2Z/25)
¢ SERSE= (el &)
- _ — Pl
AR RN ZH - (EH) - NRAY - BES 03] &k o8 St BlRE2
OAtR2elH| 11,000
=J)lga 222 M 1,000& * 3,000= 3,000
oMy S£+E 400,000& 14 400
o2&, &EA Ax=E
3,800,000& * 23 7,600
02 3224l 9,970 4,975 4,99
OZZ2=24gH| 9,970
oIz 400,000& * 12& 4,800
oMol=ER 30,000 = 12& 360
SN FaE= = 110,000 * 13l 110
o R01AHIAIZZ 200,000& = 123 2,400
ocgksHE 150,000& * 23] 300
SUNR=FSgal RN =] 2,000,000& * 14 2,000
PEHIITH(SHEAL) HSKIEA 16,000 0 16,000
= 8,000
Al 8,000
307 gI2told 16,000 0 16,000
= 8,000
Al 8,000
02 QItAAE X 16,000 0 16,000
ORYRMESESAL (EA)
16,000,000 » 14 16,000
L= 8,000
Al 8,000
LEHMEES XA 40,000 40,000 0
L= 20,000
Al 20,000
307 gI2told 40,000 40,000 0
< 20,000
Al 20,000
02 QItAAE X 40,000 40,000 0
OZEHNEESIXZA 40,000,000 * 14! 40,000
< 20,000
Al 20,000
SEZL =AY 2H | 2,400 2,452 AB2
202 0ddl 2,400 2,452 AN
01 2LHHbI 2,400 2,452 AB2
OStERstL=AY 23 3|
2,400,000& * 14l 2,400
slReltasien 60,000 0 60,000
= 30,000
Al 30,000
307 21201 60,000 0 60,000
= 30,000
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A= 2N ZHB(EH) - NRAY - By 0l b e Rz
HEaAEn 14,147,849 14,745,462 A597,613
s 720,000
| 323,172
&2 2,500
< 1,283,537
Al 11,818,640
HE2HS SH(2SL2Z/HS) 11,040,558 11,327,222 N 286,664
s 300,000
< 1,250,000
Al 9,490,558
M=tz ¥ =@M sS4 2,217,766 1,436,526 781,240
< 350,000
Al 1,867,766
M=3l K& 234,706 109,706 125,000
301 LEE A= 96, 106 109,706 A 13,600
12 JIEtE2 4= 96, 106 96,106 0
OM=3l 22 81,585
S AR=Z 12| 52,356,000& * 14! 52,356
oHARET 21| 29,229,000& = 14! 29,229
OJIE BE= 14,521
=0z 81,585,000& * 4.5% 3,672
cHUEH 81,585,000 * 2.24% 1,828
cNESH 81,585,000 = 1.75% 1,428
oMIHEE 81,585,000& * 4.3% 3,509
cE NN Z 4,084,008 * 14l 4,084
307 gI2told 73,600 0 73,600
02 QIHAAEX 73,600 0 73,600
Ode=s4 ¢ =0t 22l
10,000,000& 14 10,000
(OFSEPNE-DUN: PN 57,600,000& * 14 57,600
OMsz gRasl 6,000,000& * 14 6,000
402 QI2EXHEO0IH 65,000 0 65,000
01 GIZEGEE X 65,000 0 65,000
OZE=4Ms2 & & 15,000,000& 14 15,000
OLE=LE THI7Y 50,000,000 * 1A 50,000
A2 AZUS X 493,000 523,000 A30,000
307 gIol 493,000 523,000 A30,000
04 QIZHHAIE X 493,000 523,000 30,000
Od=A20U3 XA 493,000
od=HM& &It 13,000,000& * 14! 13,000
oMXIZHE &MU 10,000,000& * 14 10,000

_38_




= - — Al L=
2B GL(3) - RN - B e HIDE2
o=l d=520U3
120,000,000 * 14| 120,000
ods| E=R0NA=+U2
70,000,000 * 14 70,000
oSEUI A=0A=E2U2
100,000,000& * 14 100,000
CHIESEHD AEEH3
30,000,000 * 14 30,000
od= gusgtiiial
100,000,000 * 14 100,000
o M3zl AFI 2=
50,000,000 * 14! 50,000
HalX& 390,000 350,000 40,000
grzrol 390,000 350,000 40,000
2IFHALE 390,000 350,000 40,000
OAZ2Ual K& 390,000
oM183 Z2ESE OtetE tal X2
8,000,000 * 14! 8,000
oM21al =XIAI NESHEH X
2,000,000 * 14| 2,000
o M43 ZAE2HFEU= K&
300,000,000& = 14 300,000
o3 AEME XIZ 30,000,0008 * 14 30,000
oA offetal ZHI 40,000,0008 * 14 40,000
o M52l WusZAI £ -5 ctelial
10,000,000 = 14 10,000
A2 X2 27,500 22,500 5,000
2ol 27,500 22,500 5,000
QIZFAALE & 27,500 22,500 5,000
OAl+20U2 X2 27,500
o M14el =3 ET] U2l
2,500,000 * 14 2,500
o Mi142 OFESIED| Uil
10,000,000 * 14 10,000
o N2z SXH3 5,000,000& * 14 5,000
oA S4UE 10,000,000 = 14 10,000
FIICH=2 &0t 21,000 21,000 0
grzrol 21,000 21,000 0
SIZHHALE 21,000 21,000 0
OEXIAPITHE! &It 21,000
oH102 = -5 S4UI
6,500,000& * 14 6,500
o HM108 =&U= 5,000,000 * 14| 5,000
oHM13s =8z 2,500,000& = 14 2,500

_39_




A= pBES=EX= SN HSHAED
M HEHE SC(2L2E/HK)
ool MSHE L SH SEXR (e @
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
o Mi1bal 2=0H3 2,500,000 » 14 2,500
oHM14s] EHEE CHal 3,000,000& * 14 3,000
o X158l H=Ha 1,500,000& * 14| 1,500
MIISHXAALE 29 57,000 57,000 0
307 gI2told 57,000 57,000 0
03 AlRIEHEXZ 57,000 57,000 0
OAtaIEH X3 57,000,000 = 14! 57,000
AEHEU 2228 11,920 6,000 5,920
201 Zet23d| 10,000 6,000 4,000
01 AtR2elt| 10,000 6,000 4,000
OLsUal2dsE2HE 10,000,000& 14! 10,000
202 o4l 1,920 0 1,920
01 =U0bI 1,920 0 1,920
o4& Halwxl JF2
80,000& * 2& » 123l 1,920
NAHIZE S =HUS] Wz 832,640 0 832,640
= 350,000
Al 482,640
201 Zet23d] 77,640 0 77,640
01 AtSZeltl 1,750 0 1,750
O&=ga 22X ZAHl 7,000 « 58 » 50 1,750
02 3Z2=24H| 34,000 0 34,000
@LK=:] 34,000
oM=ZIUIALAAWNZE =AU
2| 34,000,000 * 14! 34,000
03 HAt2EH| 41,890 0 41,890
Oligl 22| 30,000,000 » 14! 30,000
OS2 - Hwg M 5,000,000& 14 5,000
OZdlal 2RA 240l 6,890,000& * 14! 6,890
203 HRF=&H| 5,000 0 5,000
03 AIMMFAHRFLIH| 5,000 0 5,000
Oligl&2d JRF=&Y| 5,000,000& » 14! 5,000
307 21201 750,000 0 750,000
= 350,000
Al 400,000
04 QIZHHAIE X 750,000 0 750,000
O0MHN A ZE =22 2SR
750,000,000& * 14 750,000
S 350,000
Al 400,000
=HUs ¥ M2U3FI 150,000 0 150,000




A= BRRHEN= SN HSHAED
W WIS S4(SLBB/IS)
&2l =i 2 2 SdX (&2 & &)
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
307 2I2+0I M 150,000 0 150,000
04 QIZHHAIE £ 150,000 0 150,000
OXZRAUZYEDUIX
150,000,000& * 14l 150,000
=28 d2H=s €2 |4 3,020,829 2,839,541 181,288
SeddsE4 95,000 110,000 215,000
307 gI2to|d 95,000 110,000 A 15,000
02 QItAASE X 95,000 110,000 A 15,000
O+ |4 50,000,000 = 14! 50,000
o1 1587 54 30,000,000 * 1A 30,000
ONgE 2N 2ass
15,000,000& » 14 15,000
=182 1,630,637 1,627,558 3,079
101 eIl 11,653 11,653 0
10 JIZtNI22 1 sSE =+ 11,653 11,653 0
Og=sA ZA 11,653
oJlE2s 40,6003 * 230 * 1H 9,338
oxgd 40,6002 * 19 46 1,868
o HXt=E 40,6003 * 1H * 11 447
202 O4Hl 14,000 0 14,000
01 2B 14,000 0 14,000
O EItL AN 14,000,000& * 14 14,000
301 LEE NS 1,544,984 1,555,905 A 10,921
N =t - 2sFSELS 1,544,984 1,555,905 10,921
OF78 =0 765,000
SPNEN; 36,000,000 * 14 36,000
=Ed0lU 33,300,000& * 14 33,300
cMEEOI 23,400,000 * 14! 23,400
ocEgd s 64,800,000& = 14! 64,800
oAgd == QIAH| 244,800,000& * 14! 244,800
oBg &= Q12| 182,700,000& * 14 182,700
oCgd Q12| 180,000,000& * 14l 180,000
OoLs+g 218,000
o S=H| 26,000,000& = 14! 26,000
oXAZ 30,000,000 * 14 30,000
osel=E(46HYS)  162,000,000% * 14 162,000
OoAn&ERE= 97,844
o=0g3 765,000,000 * 4.5% 34,425
cHABEE 765,000,000& * 2.24% 17,136
clESH 765,000,000& * 1.75% 13,388
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dBEe=EA= A MEEA~E
HEME S4(238
=52 ME2X
A - B PAY - By e
oMIHEE 765,000,000 = 4.3% 32,895
Of2=2g= 30,000,000 » 14 30,000
Og=gHtl 185,800
oE# 24| 4,800,000 * 14! 4,800
SESPNESTES! 23,400,000& = 14 23,400
oalE&| 83,200,000& » 14 83,200
oRdXg 10,400,000& * 14! 10,400
ocZHESHI 12,000,000& =14 12,000
S| 36,400,000& » 14 36,400
opl g UH| 15,600,000& * 14! 15,600
Ofsd=A 40,000,000& » 14 40,000
Og=a 29 161,340
og A 130,500,000 » 14 130,500
o 2HAH| 10,440,000& * 14! 10,440
o2dt| 200,000& * 123 2,400
oHZH| 800,000& * 103 8,000
o332 500,000& » 12 6,000
oHEH| 1,000,000& = 23| 2,000
CHEES 1,000,000& = 23| 2,000
O&dE 2/ 20,000,000 » 14 20,000
oger=2d| 25,000,000& » 14| 25,000
OUMHEel1 88 2 2,000,000& = 14! 2,000
307 2I2told 40,000 40,000
04 QIZ2HHA 40,000 40,000
OUuA 40,000,000& *» 14 40,000
405 Kpok 20,000 20,000
01 Apatsd 20,000 20,000
op) 20,000,000 = 14 20,000
29 498,305 386,444
LI 488,305 376, 444
== 488,305 376,444
Osd® = 275,000
SPNESN; 40,000,000& = 1H 40,000
oSgds 45,000,000& » 1H 45,000
oAz 38,000,000& » 5H 190,000
Oozs=¢ 46,474
oYUt Al 12,000,000& » 14| 12,000
oSEIAS 3,274,000 * 14 3,274
o=JtHE =¥ 12,000,000& * 14! 12,000
oZdg 16,800,000& * 14! 16,800
SRS 2,400,000 * 14 2,400
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HZ 2= X= A MEEA~E
W2HK SE(SSHLB/HS)
E=8 d2M=se 2= |4 (el &)
22N FHB(E) - NRAY - BYS 04 4t o e HIDE2
O==H] 5,488,000 * 14! 5,488
OoA&ERE= 35,173
o=0Igz 275,000,000& * 4.5% 12,375
ocALEE 275,000,000& * 2.24% 6,160
cEEE 275,000,000& * 1.75% 4,813
oMTHESH 275,000,000 * 4.3% 11,825
OEa=g= 5,000,000& » 2¢& 10,000
OE&dH| 43,350
o8xtg Rl 1,600,000& * 14| 1,600
oMXIEd&| 11,800,000& * 14! 11,800
oalE&| 14,000,000& * 14! 14,000
o2 aXIZHI 1,750,000& * 14| 1,750
CEHES 7Y 5,200,000& * 14! 5,200
oIl =] 6,000,000& * 14! 6,000
o Me2lH| 3,000,000& = 14| 3,000
ORs=dx=AJI2H| 30,000,000 = 14 30,000
Og=22dY 40,820
ogAl| 31,500,000 = 14l 31,500
o 2HAH| 2,520,000& * 14 2,520
o2dH| 1,200,000 * 14 1,200
o ZH| 1,800,000& * 14| 1,800
oE3R23 1,800,000& * 14 1,800
o3l 1,000,000& = 14| 1,000
CMEZESE 1,000,000& = 14| 1,000
Oa g =2/H| 2,000,000& » 14! 2,000
405 Xt&HF =H| 10,000 10,000 0
01 AR =SEHSHI 10,000 10,000 0
OJIXM & 2SEHI 10,000,000& * 14! 10,000
fEE2Y 433,347 379, 444 53,903
301 Let2a=s 423,347 369,444 53,903
" o=t - 2S2SE4S 423,347 369,444 53,903
ORER =(¢ 269,000
SPAESN; 40,000,000& * 1 40,000
oSgds 45,000,000& » 1H 45,000
oAz £ 38,000,000 » 4H 152,000
oBg i 32,000,000& * 14 32,000
oA&s+¢ 36,903
oUBtEAF 2,500,000& * 14 2,500
oSEIAMZ 3,203,000& * 14 3,203
oZI)IHEH 12,000,000& * 14! 12,000
oEgsE 16,800,000& * 14! 16,800
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oL ENE SN MSEAEHD
HEME S4(238 )
z=4 "2Hs0 SR-E
SA I S(EA) - HPAY - B2 e 2
oK+ 2,400,000& * 14 2,400
O==H] 5,488,000& * 14| 5,488
ox&ERE= 34,406
o=0Az 269,000,000& * 4.5% 12,105
cHUEH 269,000,000& * 2.24% 6,026
cNE2H 269,000,000& * 1.75% 4,708
oMTHESH 269,000,000& * 4.3% 11,567
OEXNRE= 5,000,000& = 2H 10,000
O8=etl 41,350
o2dH| 1,600,000& * 14 1,600
oM XIE&| 9,800,000& » 14! 9,800
SISl 14,000,000& * 14! 14,000
o RAXZHI 1,750,000& * 14 1,750
ocEHES +Y 4,800,000& * 14! 4,800
oIl =H| 5,600,000& * 14! 5,600
o Me2lH| 2,800,000& » 14! 2,800
o ZH[= Xl 1,000,000& * 14| 1,000
ORsds A 10,000,000 » 14! 10,000
Og=s42dY 15,200
og4Alt| 5,600,000& * 14! 5,600
o ZhAH| 2,800,000& * 14! 2,800
o 2| 1,200,000& * 14 1,200
o ZH| 1,800,000& * 14 1,800
o553 1,800,000& * 14 1,800
o3l 1,000,000& * 14 1,000
CUEES 1,000,000& * 14| 1,000
O&YE 3l 1,000,000& * 14 1,000
405 KHabE SHI 10,000 10,000 0
01 A ESHSH 10,000 10,000 0
OIS 2 2 10,000,000& = 14! 10,000
YaB=2d 363,540 322,005 41,445
301 LBt Al 353,540 312,095 41,445
o=t -2 = 353,540 312,095 41,445
ogas =0 199,000
SPNE=DN; 40,000,000& = 1& 40,000
oS5 45,000,000& * 14 45,000
oA 38,000,000& = 3H 114,000
oA&s+¢ 35,717
oYUBtELAF 6,000,000& * 14! 6,000
oEEILAS 3,317,000 * 14 3,317
oZJHESY 12,000,000& * 14! 12,000




A= HAFESEKN=
¥ M2 sd(2 22/
tHel: ESE NS €2 =

A2 .24 Z - BR(S) - NRAY - B 04 4t o e HIDE2

oEdsE 12,000,000& * 14! 12,000
SPNE=E=y 2,400,000& » 14! 2,400
O==H] 3,920,000& * 14! 3,920
OA&RE= 25,453
o=0l=z 199,000,000& * 4.5% 8,955
ocALEH 199,000,000 * 2.24% 4,458
cNEEH 199,000,000& = 1.75% 3,483
oMIHESH 199,000,000& * 4.3% 8,557
OE&=Rg= 5,000,000& * 1¥ 5,000
OE&EdH| 30,650
o2dH| 1,600,000& = 14| 1,600
oM XIEdl 7,000,000 = 14 7,000
S k=Sl 10,000,000 » 14! 10,000
oA X = 1,250,000 * 14 1,250
ocZEHESHI 4,800,000& * 14 4,800
oIl =H| 4,000,000& * 14 4,000
o MeE | 2,000,000& * 14! 2,000
OfRs8=AJ124| 10,000,000 » 14l 10,000
Og=s42dY 12,800
og4Alt| 4,000,000& * 14 4,000
o ZhAH| 2,000,000& * 14! 2,000
o 2| 1,200,000& * 14 1,200
o ZH| 1,800,000& = 14| 1,800
o553 1,800,000& = 14| 1,800
o3l 1,000,000& = 14| 1,000
CUEES 1,000,000& * 14| 1,000
O2sAE HH= 2,500,000& * 123 30,000
Oa g 2| 1,000,000& = 14| 1,000

405 XHatE =] 10,000 10,000 0

01 A E=EFHSHI 10,000 10,000 0

O & 2538l 2

10,000,000 » 14! 10,000

HSIIBAlZ e = 5,753,780 7,027,460 A1,273,680
s 300,000
= 900,000
Al 4,553,780

EAZAXILAE 4,200,000 2,500,000 1,700,000
< 300,000
Al 3,900,000

401 AIEHIZSOHYI 4,200,000 2,500,000 1,700,000
== 300,000
Al 3,900,000

01 Al£H] 4,000,000 2,144,000 1,856,000
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ShA| A 3t (et 3
— — N L=
SN ZE - SR(EH) - MRAY - BES 0l b e Rz
OF7Z22(FP &MY BEX
300,000,000& * 14! 300,000
L= 300,000
O=RSJ(F.P)ZLEAY
3,700,000,000& * 14 3,700,000
02 Zcltl 200,000 334,000 A 134,000
OFF SR (F.P) LA 22l
200,000,000& * 1A 200,000
ME QEZIIE AIEEZ 500,000 0 500,000
< 250,000
Al 250,000
401 A&HIRH S0 500,000 0 500,000
= 250,000
Al 250,000
01 Al&dI 500,000 0 500,000
OAtd QEAIIE 2I24E
500,000,000& * 14 500,000
< 250,000
Al 250,000
MSIIE AMdsE 2HEH| 3,780 2,460 1,320
202 0ddl 2,280 960 1,320
01 =U0bI 2,280 960 1,320
OMSAIE HRE2 80,000& * 2H * 83| 1,280
ONAAZEHd=2s H2E2
1,000,000& * 14l 1,000
203 PRF=&H| 1,500 1,500 0
03 AIMMFAHRFLIH| 1,500 1,500 0
OMSIIEtAIE Al ZHFE 1,500,000& * 14 1,500
2ENRAEHE EIEE XA 50,000 0 50,000
207 IR 50,000 0 50,000
01 g1E9H| 50,000 0 50,000
OLS0PIAY BIFLEA
50,000,000& = 14! 50,000
d2I1E el22E 1,000,000 0 1,000,000
s 300,000
= 350,000
Al 350,000
401 A&HIRH S0 1,000,000 0 1,000,000
s 300,000
= 350,000
Al 350,000
01 Al&HI 994,000 0 994,000
OZZEIE 2|22 S Al
994,000,000& * 14! 994,000
s 298,200




- _ — Pl
224 BB O(3) - HRAY - BES 0] &k o8 St dImE=ET
= 347,900
Al 347,900
03 AlIZ=0HHI 6,000 0 6,000
OZFIN 2122 2oy
6,000,000 » 14 6,000
= 1,800
= 2,100
Al 2,100
MEAlg2e2g 48,183 23,695 24,488
SdNs2H23 41,153 19,053 22,100
101 @Il 11,653 11,653 0
10 JIZtHI22 RS2+ 11,653 11,653 0
OZ= =sads2 2l 11,653
oJlga 40,6002 * 198 » 2302 9,338
oFFY 40,6003 = 18 » 46 1,868
ocUlxts4 40,6002 * 19 » 11 447
201 2Bt 9,500 7,400 2,100
02 B2l 9,500 7,400 2,100
OZ222= ¥ HAl 7,900
oMIIg S 450,000& = 12& 5,400
o=l 500,000& * 5IHE 2,500
OAd EHI= AL 1,600,000& * 14 1,600
401 Al&ZHIZ20HY| 20,000 0 20,000
01 Al&Hl 20,000 0 20,000
O=4dH=sa =3 33|
20,000,000& * 14 20,000
2EN0IESE 2L 7,030 4,642 2,388
101 Ql24b| 2,030 1,642 388
10 JIZHH22XsSE+ 2,030 1,642 388
OZE HOIESE SZEH| 1At
0,600& * 5% * 103 2,030
201 223 5,000 3,000 2,000
01 AtR2teltl 2,000 0 2,000
Oget2g| 2,000
oS HOE=SE AE2F ¥
1,000,000& » 2042 2,000
02 S22l 3,000 3,000 0
OAdEHIs AL 3,000,000& * 14! 3,000
MEHS S8(2}LBZ/HS) 1,489,480 1,240,727 248,753
| 101,662
= 6,977
Al 1,380,841
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AZ: RN SN HMSFAED
Ay MEHE SC(222Z/H
Chol: METRISH B (ol w2
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
MEHSHH 277,409 278,439 A 1,030
J| 101,662
< 5,366
Al 170,381
MM XA 67,953 67,667 286
301 LEE A= 67,953 67,667 286
12 JIEtE2 4= 67,953 67,667 286
OdaH=sgs 24 58,160
S AF=Z 12| 38,522,000 * 14! 38,522
o HRE X 01| 19,638,000& * 14! 19,638
OJIEtRE= 9,793
o=Z0Iz 58,160,000& * 4.5% 2,618
cHUEH 58,160,000 * 2.24% 1,303
SR= L= 58,160,000 * 1.75% 1,018
oMIHEER 58,160,000& * 4.3% 2,501
SISESESE= 2,353,000& * 14 2,353
SEV e 19,800 21,998 ~2,198
| 9,900
Al 9,900
307 21201 19,800 21,998 22,198
| 9,900
Al 9,900
02 SI2tHAE X 19,800 21,998 N2,198
Odss=Z2 O 19,800,000& * 14! 19,800
| 9,900
Al 9,900
M = X & AR X 125,568 123,480 2,088
| 62,784
Al 62,784
307 21201 125,568 123,480 2,088
| 62,784
Al 62,784
02 QItBAE XL 125,568 123,480 2,088
OF= =95 E=IN =D\ ;[ DN 125,568,000& * 14 125,568
| 62,784
Al 62,784
Hd =S 41,856 41,160 696
| 20,928
Al 20,928
307 21201 41,856 41,160 696
| 20,928
Al 20,928
02 QItBAE XL 41,856 41,160 696
ooz M=sgs N 41,856,000& * 14! 41,856
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2 A2 2 SN HSHLAD
MBS S (SHUDB/HS
CHol: MEH S KBS0 (EHol: &2
- — PolE |
A= 2H - FH - HAE) - NRAY - BES Ol &4 ‘oﬂ‘&g HwsZ
7T 70,928
Al 20,928
MEHSDASY 15,332 17,334 22,002
p 4,600
= 5,366
Al 5,366
307 2I2¢0IH 15,332 17,334 A2,002
p 4,600
= 5,366
Al 5,366
02 SIHAMBE 15,332 17,334 £2,002
OMEHE DALY 15,332,002 * 14 15,332
p 4,600
< 5,366
Al 5,366
MRS 29 6,900 6,800 100
p 3,450
Al 3,450
307 21201 6,900 6,800 100
p 3,450
Al 3,450
02 SIABABE 6,900 6,800 100
OMEBHSEIs SSXS 6,900,000 * 14 6,900
p 3,450
Al 3,450
METI S0 ALK 475,500 273,500 202,000
NZIITHEI X 2 41,000 42,000 A1,000
307 2I2¢0|H 41,000 42,000 A1,000
04 CIRtSARE 41,000 42,000 A1,000
OAFIIHS] X2 41,000
oHM175l HOIEZHE 5,000,000 * 14 5,000
oH13s 220 4,000,002 * 14! 4,000
oH113l HILIAHE 4,000,002 * 14! 4,000
oH105 ER0HE] 5,000,000 * 14} 15,000
oH105] R3] 4,000,002 * 14! 4,000
oH6s HERIE THSl 4,000,000 * 14 4,000
SHI3E! 0FRTHS 5,000,0002 * 14! 5,000
SXIADICHEI X2 25,000 25,000 0
307 21201 H 25,000 25,000 0
04 SI2bEHANE 25,000 25,000 0
OEXADITHE! X2 25,000
oH9sl S5 2,500,0002! * 14! 2,500
o H103 HILIATS] 2,500,0008 * 14! 2,500
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SN SN HSEAED
g Sg(S3L2Z/H=)
SR HALKIA o He
2. E9(30) - HRAE - BAS e 2
oM12a g+ tHal  2,500,000& * 14| 2,500
o Ni162 M2 2,500,000 * 14| 2,500
o HM108 =02 3,000,000& = 14 3,000
o HM108 ZR0 2 2,500,000& = 14 2,500
o M102 =2/ 2l 2,500,0002 * 14 2,500
oMz M=E LS
2,000,000& = 14 2,000
oHM108 Hei=ctold tal
2,000,000& = 14 2,000
o HM208 HOIEZ CHal  3,000,0008 * 14 3,000
A UK 35,500 35,500 0
gIzrol 35,500 35,500 0
QIZFHALE & 35,500 35,500 0
OZ A= &II0s X& 35,500
o M182l HHECIEUE 2,500,000& = 14 2,500
o X182l HILIAZ] 2,500,000& = 14 2,500
o M16al &= 2,500,000& = 14 2,500
o M283 E0= 3,000,000& = 14 3,000
oM11al 2CeEH= 2,000,000& = 14 2,000
oM128 ZR0 2 2,500,000& = 14 2,500
o HM162l AtAETH = 2,000,000& = 14 2,000
oMi162 HOIE= W=l  3,000,000& * 14] 3,000
oM6sl === 2,500,000& = 14 2,500
oM128 2z 2,500,000& = 14 2,500
o X9zl i +*H=l 2,500,000& = 14 2,500
o M13a ei=c2told thal
2,000,000& = 14 2,000
o M9l &M=L 2,000,000& = 14 2,000
o M6zl FattH3l 2,000,000& = 14 2,000
o M9gl ARIAFTHIMNE  2,000,0008 * 14 2,000
H=HAKIA 104,000 31,000 73,000
k2ot 23,000 5,000 18,000
A2 22l 23,000 5,000 18,000
OdeMsuadzs)|? 2
5,000,000& * 14 5,000
OdeM=g23=2d 10,000,000 * 14| 10,000
ONzdN=gs 23 3,000,000& = 14 3,000
OdeMsus 8IS 5,000,0008 * 14 5,000
2ol 81,000 26,000 55,000
QIZFAALE & 81,000 26,000 55,000
OJIEtSEH=HA XIS 81,000
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AR pEes=I SN HMSEAED
HH: MBS S8(SHLBB/HS)
ol METISHEI ALK (e @
_ - PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
ofRdds HE0IF2uA
3,000,000& * 14 3,000
o NOHZHEAl M= 5,000,0008 * 14 5,000
oESY 258 MA(HS &I}
10,000,000 * 14! 10,000
oMEH=E HOIEZSWUS 3,000,0008 * 14 3,000
o XHCIOtetE =2 40,000,000& = 14| 40,000
o232t HEl 20,000,000& * 14 20,000
SUHPMEHFSHAKA 270,000 140,000 130,000
307 gI2told 270,000 140,000 130,000
04 QIZHHAIE X 270,000 140,000 130,000
OS2t MEHSHA XA 70,600
o M17al SRl E HSHe
40,000,000& = 14! 40,000
oA THEMSE HAMAA
30,600,000 * 14! 30,600
020098 =& dIF 2 M= Hal H |
30,000,000 = 14! 30,000
02009 =0 M=U=IHZ
100,000,000& = 14! 100,000
OM7EANEIIE=EHESE I etelthal
20,000,000 * 14! 20,000
ORmigzal = 18,000,000& * 14! 18,000
OHM213l ot HILIA 11,400,000& » 14! 11,400
ORM52 228 BHEGIE  20,000,0008 * 14! 20,000
METSIIEAIE 2e|2E 2 &85 681,201 653,448 27,753
LOHAS MEHISAIE JIsE2 361,201 230,230 130,971
101 el 35,201 3,230 31,971
10 JIZtMI22ASE+ 35,201 3,230 31,971
OSHs SUI(ME)MSAIE 22
40,6003 * 102+ 32/x 2100 25,578
OgUd MSAIE2 9,623,000& » 14 9,623
201 Zet23d| 26,000 27,000 21,000
02 2324l 26,000 26,000 0
OsUIMISAIE =Xl2tcid
26,000,000 = 14! 26,000
401 Al&HIZL S0 300,000 200,000 100,000
01 Al&dI 300,000 200,000 100,000
OLOHAS MEHISAIE JISEZ
300,000,000& * 14 300,000
U (D=2 HSAE EX RS 320,000 1,218 318,782
401 Al&HIZL R0 320,000 0 320,000
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MEs S4 (222 /HS)
MEHSIEAIZ22|2E & =5 (et &3
- _ — Pl
2. 24 FB.O(3D) - HRAY - BAS 03] &k o8 St BlRE2
01 Al&dI 320,000 0 320,000
EX0FRE AIEE2 & =7 Al
140,000,000& * 14l 140,000
OclE0E Al&H 100,000,000& * 14 100,000
OEERE AlEEZ 30,000,000 * 14! 30,000
OO0kl CIZICIEHAHOIEH ANEES
50,000,000 * 14! 50,000
HoelM=E s XN 55,370 35,340 20,030
< 1,611
Al 53,759
O MEN S 50,000 30,000 20,000
307 21201 50,000 30,000 20,000
04 CIZHHALE X 50,000 30,000 20,000
HOHQI MEX S HALKIR 50,000
o N8l HEMILLEEFAUS
10,000,000& * 14 10,000
=J|EH ZOHQ! MSAH X
20,000,000& * 1A 20,000
o M4zl ZEEZXIAI Al ZZO0HIAHOIESH
=] 20,000,000 * 14l 20,000
O MEN =S SOt X& 5,370 5,340 30
= 1,611
Al 3,759
307 2I2+0I M 5,370 5,340 30
= 1,611
Al 3,759
02 QItAAEE 5,370 5,340 30
ZOHI ME T F SO XA
5,370,000& 14 5,370
L= 1,611
Al 3,759
H 25 2 SH(MISK/ =0 - FHad) 1,575,111 2,142,361 AB67,250
s 420,000
| 221,510
= 2,500
< 26,560
Al 904,541
AN AEsd 482,490 496,290 13,800
s 20,000
| 203,450
< 26,560
Al 232,480
HAE 2O0EAL AHI24 2,590 4,000 A 1,410
201 223 2,000 2,000 0
01 AtR2teltl 2,000 2,000 0
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22 Z2ot=X=2 A HsEAE
Aol H5 U S Lol HAH)
AFE HAASH (S &)
- _ — PolE |
122 EHB SR (BH) - NRAY - B St HIRE2
O= gl 2,000
oxAESR DAt
0 * 5& » 82 * 102/ 2,000
202 O4Hl 590 0 590
01 =UWObI 590 0 590
O&FAHE 82 & A0l
47,500% * 2H * 23| 590
EAFZRA2HX 40,000 20,000 20,000
s 20,000
Al 20,000
307 21201 40,000 20,000 20,000
s 20,000
Al 20,000
02 QAL X 40,000 20,000 20,000
OFSENS IS, & 40,000,000& * 14 40,000
s 20,000
Al 20,000
HAFSERNENATAS 80,000 80,000 0
| 40,000
= 10,000
Al 30,000
307 21201 80,000 80,000 0
| 40,000
S 10,000
Al 30,000
02 QIHAMEX 80,000 80,000 0
OFSENSIE-— A =
80,000,000& » 14| 80,000
Il 40,000
= 10,000
Al 30,000
NTHH A 28E 2 el 38,400 38,400 0
| 19,200
= 5,760
Al 13,440
201 e 15,000 38,400 A23,400
J| 7,500
< 2,250
Al 5,250
03 A2 15,000 38,400 A23,400
O&FAUE=ZsE 2N 15,000,000& 14 15,000
| 7,500
= 2,250
Al 5,250
307 gI2told 23,400 0 23,400
J| 11,700
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R SN HSHAED
g ¥4 25 2 SY(MSN/22 - Fa4)
el 2AME HAESA (=ER-F)
= - — Al L=
.24 HB - G9(S) - ARAY - BES e HIDE2
S 3,510
Al 8,190
04 QI2FSHALE & 23,400 0 23,400
O3Ad=EstE 2EXNE  23,400,0008 * 14 23,400
Jl 11,700
= 3,510
Al 8,190
HAE gut= OtU0l 2SN 138,500 153,890 215,390
Jl 69,250
Al 69,250
101 el24H| 52,800 0 52,800
Jl 26,400
Al 26,400
10 JIZH22NHSE=> 52,800 0 52,800
OIS OBHHOIRY Q12|
52,800,000 * 14 52,800
| 26,400
Al 26,400
201 &er=gll 51,360 153,890 102,530
| 25,680
Al 25,680
01 ArZ2tclbl 47,360 0 47,360
ozg=¢ 39,960
o FA= 39,960,000 14 39,960
Jl 19,980
Al 19,980
Odet=ZH| 2,000,000& = 14 2,000
Jl 1,000
Al 1,000
ogxt= 5,400,000 * 14 5,400
Jl 2,700
Al 2,700
02 E3=23Hl 1,000 0 1,000
O332= % MAl 1,000,000& = 14 1,000
Jl 500
Al 500
03 Ar=&H| 3,000 153,890 A150,890
Og = optuloI2E XI&  3,000,0008 » 14 3,000
Il 1,500
Al 1,500
301 get2a=s 34,340 0 34,340
Il 17,170
Al 17,170
10 YAIMBIR S = 34,340 0 34,340
OAE A 24 34,340,000 » 14 34,340
Il 17,170
Al 17,170




N BAGE 25 O SSMHSX/w0 - HAE)
el 2AME HAESA CERE)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
A4 HHl X3 15,000 15,000 0
307 2120l 15,000 15,000 0
02 QB AE L 15,000 15,000 0
OFAHSSSHE 2|
15,000,000& * 14 15,000
FA4E 012 #sXI& 12,000 12,000 0
J| 6,000
L= 1,800
Al 4,200
307 2I2+0I M 12,000 0 12,000
Il 6,000
< 1,800
Al 4,200
04 QUIZHHAIE £ 12,000 0 12,000
OFadE s0telgs 12,000,000& * 14 12,000
| 6,000
= 1,800
Al 4,200
A d23HH &X129 96,000 160,000 264,000
J| 48,000
Al 48,000
307 gI2to|d 96,000 160,000 A64,000
J| 48,000
Al 48,000
02 QItAAE X 96,000 160,000 A64,000
O&FAHE 423tdlH X 23
96,000,000 * 14! 96,000
J| 48,000
Al 48,000
HERSW I 18,000 13,000 5,000
L= 9,000
Al 9,000
307 2I2+0I M 18,000 13,000 5,000
= 9,000
Al 9,000
02 QIHAMEX 18,000 13,000 5,000
Odl&Asn 23 X2 18,000,000& * 14! 18,000
L= 9,000
Al 9,000
FAESEA 2208 29 42,000 0 42,000
J| 21,000
Al 21,000
307 2I2+0I M 42,000 0 42,000
J| 21,000
Al 21,000
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2 2s=A= A HEEAED
Had 25 U SMH(ABISX/20 - BAE)
HAULPALSE (=ER-F)
2 2AH - B S9(3) - IRAY - BES ofl &t e HIDE2
cE4d Adel 3A42
1,500,000& = 14 1,500
oY LH3 EE
1,000,000& = 13 1,000
O gxtz 12,000
oXte A AtE 12,000,000 = 14 12,000
02 5=l 36,100 0 36,100
O 2232= %2 MAl 28,100
odMIIZ 1,500,000 = 122 18,000
ootz 100,000& * 12& 1,200
oBAM HAMY PEH2
3,000,000& = 13 3,000
ostiEE = 2,000,000& = 13 2,000
ofgE ta ekt Heldl 50,0008 * 13 50
oA OHNE I 50,0002 * 14 50
oMt EA= 1,200,000 = 13 1,200
odid RE=E 100,000 * 23 200
o ROHHIANIAY SHE  200,0008 * 12& 2,400
O ¢aHl 5,000
o L 5,000,000 * 14| 5,000
O AE&HI=AlbI 3,000
odde)| 21X 1,000,000& = 14 1,000
oAYANEES FX 1,000,000& = 14 1,000
oJ|Et=&H| 1,000,000 = 14 1,000
03 Ar=2d&H| 5,000 0 5,000
OFAd=d=2E A 5,000,0008 * 14| 5,000
= 2,500
Al 2,500
405 XHabH =4I 8,600 0 8,600
01 NS SFSHI 8,600 0 8,600
O=AI #¢ 4,000,000& * 14 4,000
OCIXIEJthet & 300,000 * 14 300
OBItI27thet & 3,000,000& = 14 3,000
O0lsg %= F¢ 1,000,000& = 14 1,000
OIHME 7Y 200,000 = 14 200
onotE +Y 100,000 * 14| 100
Ent VAR el foges 963,411 549,911 413,500
[ 400,000
Il 18,060
Al 545,351
HALHAEHNES 700,000 327,000 373,000
fas 400,000
Al 300,000

_57_




[0
i’
OF
oJ

0
50

O o
W ok
=3 1l
Y
o =
0 ) )
& < <
A1) R0 ®O

I & o
21 RO O

3 3 S|2I8 DX

S S SRR < (@
nR R Rle|e © |
E
=]

38 38 |5 |5s S| &

S S o |6 e @ |
war |5 |5 B |5 |5 5 |o
ik
RIS

O OO0 O O O O |13 1O ([© © — O O 0N — N O AN A O 0 10 O O O o o O O© O O O O O o

SSglgcgs o d|d|d oo oanio - - oI dldagbodus S8 ®g5omseh o
x
3r
<
S

= =
2 ol ol A X A A ol ol R
Mﬁ * m«/_uA*».” x X X mA*.n‘“ x X  x  Xx x X x X X x X x
ol oF) * 50 B0 oF o oY * 50 B0 oF of oU of oF of o of of oF) oF oF
5 3 s = L 8 8 8 s = = 82888 88 888 88 8
S -~ . x S SS = SS S35 S8 §8535 S8 g

al g - gag - sggg 88 888 g8 8
= S w8 ©io g ¥F D8NS ypS o eSS Sk o
H__l o [ ERSEEN [seIENaN] o O O N O N NN =™ — o (&N}
=l = A B g ¢ = ~
< . me,mm g ¥ %
° ] ol
= H ol -
= = ~ 5 "
= Kl an) u._.r - H =
%+ | < i uo < o b= i
0J i) ol &0 = @l HiD ~ N 0] =<
. <F 01 W<k S0 M W A 30 R0
# |o ) N n o o< O ROOOF A MR
N E 5 Sls = A SRR - = ~
. | W R il ER L 0 0 0 0
T |< < O ol |~ O <
T |z - T I N -

Q = Hle|™ S
. R0
fir
A

_58_




2 2s=A= A HEEAED
AU 25 Y SH(ASSK/EQ - HAH)
INENEERIES- (=E R E)
RN BB BRI(E) - MRAY - BES ofl &t e HIDE2
Oogxt= 2,000
S =l =P 2,000,000 * 14| 2,000
Or=11:] 1,000
o S201AlH| 1,000,000& = 14 1,000
Ol =H] 1,400,000& = 14 1,400
02 5=l 56,080 83,000 N\26,920
OZ232s<LHA 40,280
odMIIZ 30,000,000 * 14! 30,000
ootz 100,000& * 12& 1,200
orHAlZildBEEE =
3,000,000& = 13 3,000
ostiEE = 2,000,000& = 13 2,000
o gsetd el A 3| 50,0008 * 13 50
oA OHNE | 50,0002 * 14 50
oMIItNE A= 1,200,000 = 13 1,200
cEINERES 100,000 * 23 200
o ROHHIANAY SHE  200,000& * 12 2,400
o2t/ AIAREAS 15,0008 * 123 180
OY=ZH] 7,000
oI (=2t ) 7,000,000 * 14! 7,000
OA2EHI= A 8,800
oI B[ 1,800,000 = 14 1,800
oM=AE 27X 2,000,000 * 14| 2,000
o) 27Xl 1,000,000& = 14 1,000
oA YANE ExF A 1,000,000& = 14 1,000
SJ|HAE 22 X8I 1,000,000& = 14 1,000
=J|Bt =48I 2,000,000& = 14 2,000
03 Ar2EH| 3,000 0 3,000
O dA2EH] 3,000
o=23AHE 22 HEE  3,000,0008 * 14| 3,000
301 YprEaa 6,000 0 6,000
12 242 6,000 0 6,000
OFAddZdd HRFH 500,000& « 122 6,000
405 KHakH =4 18,800 10,000 8,800
01 MM =SFSHI 18,800 10,000 8,800
OLE=S ¥ 1,500,000& = 14 1,500
Og Z2HE 7Y 2,000,000& = 14 2,000
Oslti2Atet =& 3,000,000& = 14 3,000
Ofdiorola +¢ 1,000,000& = 14 1,000
OfRUHxY ¢ 8,000,000& * 14 8,000
OSMMEI 7 500,000 * 14 500
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dBEe=A= FA O MEE~E
D HAE 25 Y SH(MESX/ 0l - HAE)
D EaEAE2AR2E ?EA)
= - — Al L=
2 2A B E(E) - MRAY - BS e HIDE2
O0lsd = 2g 1,000,000& = 14| 1,000
osglll g 500,000 » 14 500
Ootollet ++& 300,000& » 14 300
OAt22Il 7¢ 1,000,000& = 14! 1,000
eIz )8 29 % 243 12,400 10,000 2,400
7l 6,200
Al 6,200
201 LBt 12,400 0 12,400
7l 6,200
Al 6,200
03 A2 12,400 0 12,400
O+ Z2I2YY 245 X
12,400,000& * 14! 12,400
Jl 6,200
Al 6,200
ANHEaE HoRIEe 22 3,000 3,000 0
Jl 1,500
Al 1,500
201 Zet2E| 3,000 3,000 0
7l 1,500
Al 1,500
03 A2 3,000 3,000 0
OXEAE HOIPIRE 2Y
3,000,000& = 14 3,000
Jl 1,500
Al 1,500
HAEX SA BHX 18,720 20,640 A1,920
Jl 9,360
Al 9,360
101 el24| 18,720 20,640 21,920
7l 9,360
Al 9,360
10 JI2HH22NSEs 18,720 20,640 21,920
O&FAE XIZAF HiXI 18,720,000& * 14! 18,720
Jl 9,360
Al 9,360
HAEEAd 293 A 2,000 2,880 A880
Jl 1,000
Al 1,000
201 Zet2E| 2,000 2,880 A880
7l 1,000
Al 1,000
03 A2 2,000 2,880 A880
OFAE AME 292 =24
2,000,000& * 14! 2,000
Jl 1,000
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A2 BELHIIR SN DEREY

M OItEN WEEHE PE(+SLUE/HENS - SRSIIEH)

&2l HsusSAE 843t (el &)
Al = X xH CI<2 A 1 =2 OH l—Lli'E =2}
AR . 2N - FH . H |(2|)”) N2AIE - HY S 0l &+l Ol AFOH Hluns

WS 14,491,806 15,178,620 A686,814

L= 265,000
Al 14,226,806
QIIEA NEEE AF(+SLWS/UHENE - 8RS 14,463,000 14,758,000 A295,000
EH
L= 265,000
Al 14,198,000
HswWsSAtY 2435t 14,463,000 14,758,000 A295,000
L= 265,000
Al 14,198,000
TN CIMNE EABX 12,000,000 13,500,000 A 1,500,000
307 QIZtolA 12,000,000 13,500,000 21,500,000
09 2HHEEXZ 12,000,000 13,500,000 21,500,000
O=dA o1&z 2 12,000,000,0002 * 14 12,000,000
ANUWHHA 2SS HEXA 1,460,000 1,055,000 405,000
& 265,000
Al 1,195,000
307 gIztold 1,460,000 1,055,000 405,000
& 265,000
Al 1,195,000
09 2=HAHEEXZ 1,460,000 1,055,000 405,000
OAIlLHHA Hl= s THE XA
1,400,000,000& » 14] 1,400,000
= 250,000
Al 1,150,000
O8XLd 2 454 60,000,000& * 14 60,000
= 15,000
Al 45,000
M SHHX A 2 3,000 3,000 0
307 2I2+0I M 3,000 3,000 0
03 AMEIHAMIEERZ 3,000 3,000 0
OAtal &AMl X1 3,000,000& = 14l 3,000
WENETA AILHHA THEXA 1,000,000 200,000 800,000
307 gIztold 1,000,000 200,000 800,000
09 2xHHEXS 1,000,000 200,000 800,000
OusSIe = AIlLHHA MEXI&
1,000,000,000& * 14 1,000,000
HE2AZH (LSS D) (JIEHIIE) 28,806 30,386 21,580
ol 2Z| 4,800 4,860 260
oIg 2| 4,800 4,860 260
203 ZR=&H] 4,800 4,860 260
04 2EN2IHRFEYI 4,800 4,860 260
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ABLs=X= SN HRSSHEEAIZAE
ZEHN SH(23L2t2/235H)
YSCH BE - 54 (=CRE)
- _ — PolE |
2 2A BB O(EN) - HRAY - B 0l &t St HIRE2
HRSEEEAFAE 2,442,298 1,283,236 1,159,062
< 50,000
Al 2,392,298
N (222 /23) 1,677,048 1,273,488 403,560
SHH & - 54 1,213,460 1,069,004 144,456
LECUH HAIXA 978,900 768,100 210,800
201 Ler23H| 315,900 240,100 75,800
01 AtR22ltl 25,500 49,700 A24,200
Oget==&H| 5,500
CYAFINNHH AL 42
4,000,000& * 13 4,000
oAEHQMAA EEE S WA
150,000& * 105 1,500
Oll=Hl 4,000
ot 22X 2A+ MZE 8,000& * 50004 4,000
Or=1=1i:] 16,000
oHH ALK SAH|
5,000& » 8 » 24! » 200H 16,000
02 3324l 10,400 10,400 0
O2Z223ZLHA 10,400
od - ol AMESR 200,000& * 129024 2,400
oHRY BaIE 200,0003 * 58 * 83 8,000
03 A2 280,000 180,000 100,000
OHEEE IS8, ZAH ME
10,000,000 * 23 20,000
OHE,S&, =9, 20 2xt
25,000,000& » 34! 75,000
OUEHE L "t=Ald Xt
25,000,000& * 44! 100,000
OO0l s3taal Xt 25,000,000 * 14! 25,000
OHQE =HAGS U DHALE ) 29
45,000,000& = 14! 45,000
OHALE OoloiA Xt 6,000,000& » 14! 6,000
OZHol Xt 500,000& * 4= 2,000
O Xt HIS, &2l Xt 7,000,000& » 14 7,000
301 LEIE A= 63,000 63,000 0
10 AMAHIE A= 63,000 63,000 0
OSHs UM &ItE4
,000,000& * 2158 = 63,000
307 gI2told 600,000 465,000 135,000
04 QIZFHAIE X 600,000 465,000 135,000
O=Htzs &0t 2 M &8
15,000,000& * 14! 15,000
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A= HAFE=EN= M HEEXREAFAH
M ASHM S (2L 22/25HH)
el ASCQR BE - 84 (ol @)
- _ — PolE |
AT RN FH-SA(EH) - ARAY - BAES 0l &t St HIRE2
OdflelsHH=d L A=A
150,000,000& = 14! 150,000
OLEH2H A 435,000,000& * 1A 435,000
LEHN X 200,000 240,000 240,000
401 AIEHIZLSOHYI 200,000 240,000 240,000
01 Al&HI 70,000 240,000 A 170,000
OCtQE#AIEY Xl 2=2HH|
20,000,000 » 14| 20,000
OH2g=+=Al4 0ld &X 20,000,000& * 14! 20,000
OLEH2H BIZEE FH]
10,000,000& = 14 10,000
OHE ot HtY FH|  20,000,0002 * 14 20,000
04 SAFZIAAIZH] 130,000 0 130,000
O=tel €x1 £ ol 15,000,000& * 14! 15,000
O It &x1 & oAl
30,000,000& * 14 30,000
O8I, S4AE B 10,000
OHHAE ==& &X 10,000,000& * 14! 10,000
OARE Xt&et & S8 HAITH M
20,000,000& * 14! 20,000
OMEZ, JUH &bl 5,000,000& * 14 5,000
OH#AIE =8 FH] 5,000,000& * 14! 5,000
OJIEH AR A4 JHI  25,000,0002 * 14 25,000
odul & & #£X 10,000,000& * 14! 10,000
LSHH JIES AtZ 20,000 5,000 15,000
307 gI2told 20,000 0 20,000
02 QIHAAEX 20,000 0 20,000
Og 28 & 20,000,000 = 14! 20,000
LEURN B& - SEAMY 2| 14,560 4,904 9,656
202 o4l 11,560 4,904 6,656
01 =UWxHI 11,560 4,904 6,656
OLEH2M 2& - 84 2Z 2]
11,560,000& * 14! 11,560
203 HRF=&H| 3,000 0 3,000
03 AIHMFAHRFLH| 3,000 0 3,000
OSQA S4 Al XY
3,000,000& * 14! 3,000
YEHRs2 29 463,588 204,484 259,104
YEHIst2t 2el 2 23 463,588 204,484 259,104
101 el 59,320 59,319 1
10 JIZtMI2Z2 XS E+ 59,320 59,319 1
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BE 2= 2 SN HRRHAECAIFVC
LS s (23L2Z/23H)
Ysco25n 2o (ol w2
2B GL(3) - RN - B ofl &t e HIDE2
Otesaad LY (HI]) 22,946
S 73,540 * 1 * 230 16,915
oFFg 73,5403 ~ 1 * 46 3,383
oEHXt=E 73,5403 « 18 + 11 809
oAl2tel=g 1,839,000& = 14 1,839
Ocesta2d ALADIAH) 18,187
=Jlz2a 58,200& * 1& = 230 13,407
oFFg 58,2003 * 1 * 46 2,682
oEHXt=E 58,200& 18 » 11 642
oAl2tel=g 1,456,000 = 14 1,456
Otesazd LA (88,29) 18,187
S==r=1 58,2002 * 18 » 230 13,407
oFmad 58,200% * 18 » 46 2,682
S UPNEEE 58,200& 18 » 11 642
oAl2tel=g 1,456,000 = 14| 1,456
201 &er=gHl 159,268 108,011 51,257
01 At= el 50,717 38,750 11,967
Odet=ZH| 49,817
cUKTH BEEE MA
5,000 = 43|  250% 5,000
otdEdrr= 1,000,000& = 28 2,000
SIIAANE B H-ST
1,200,000& = 13 1,200
oI RAl 2l 50,0008 ~ 122 600
ozl AMEH =8 200,000& * 13 200
oM+ 4 == 500,000 * 12 500
oHAEY FE+=2=E  1,700,000& * 122 20,400
oA MES 7Y 200,000& * 123 2,400
cU=E ¥l|=d 2
100,000& = 10CH * 52 5,000
oZUINY &4=+1Y 4,000,000 * 14| 4,000
oY A BiXI & AlZ2tUE HIH
3,000,000& = 14 3,000
oHlY 48 HA 1,500,000& = 14 1,500
o0lng A HOIZ £ 417,0008 * 14 417
oZetE Al ¢ 2,000,000 * 14| 2,000
oZSHAA EL % HE
100,000 = 2& * 53] 1,000
oMygJ| S5 7Y 600,000 * 14 600
O W= 900
o wEH 300,000 * 32 900
02 s&5=9H 108,551 68,061 40,490
OZ32=%HA 48,791
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2 PBEHEIZ SN HRBSHEEAFIE
HH: HQRSEXITA DM (2L 22/23HH)
o HREAIB2E ZHANY (&2 & &)
= - — N L=
A= 2N ZHB(EH) - NRAY - By 0l b e Rz
HECURN 85 A2 HE 370,000 0 370,000
401 Al&HIZL R0 170,000 0 170,000
01 Al&HI 170,000 0 170,000
O0ld 22X & A= e
170,000,000& * 14l 170,000
402 QI2EXHEOIH 200,000 0 200,000
01 QIZEEE X 200,000 0 200,000
OLEL2H ds AME=S HE
200,000,000& * 14! 200,000
HRFZSEETA ZZ20E 29 380,000 0 380,000
< 50,000
Al 330,000
SAZ =HEE HWERA 23 80,000 0 80,000
201 223 10,000 0 10,000
01 AtR2elt| 10,000 0 10,000
OFERL ESZAIZE 2H HWER 23|
8,500,000& » 14 8,500
Ott3 SEEE SHOIK &Y CISAMY
1,500,000& * 14 1,500
307 21201 70,000 0 70,000
02 QIZtBAE XL 70,000 0 70,000
OZAIZE FHEHUES A= 234
70,000,000& * 14! 70,000
ZECREs oiLinioeE HMA 150,000 0 150,000
L= 50,000
Al 100,000
307 2I2+0I M 150,000 0 150,000
= 50,000
Al 100,000
02 QA AEE 150,000 0 150,000
OHe 2 oiLoorE mMa
150,000,000& * 14! 150,000
L= 50,000
Al 100,000
HRZSIEFETAl EAS 150,000 0 150,000
307 21201 150,000 0 150,000
02 QItBAE XL 150,000 0 150,000
OHMIAH SE =234 MOILE
50,000,000 * 14l 50,000
OLELR2Y 2ol M
100,000,000& * 14! 100,000
HY 2L (HL2A BT AFEC) (DIEH/DIE 15,250 9,748 5,502
Q2| 3,000 1,200 1,800
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1,800
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3,702
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1,200
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8,548
8,548
6,148
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2,400
2,400

Ofl &k 24

3,000
3,000
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12,250
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7,700
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1,200

2,400
3,600
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80
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250,000& » 123

el
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100,000& * 123

300,000& = 123
100,000& * 5
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